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Parmenides Fr. 8 
Tentative Logical Reconstruction based on Gallop Translation

with line numbers supplied by Dr. Garrett 

October 1, 2012
S# = logical step in this reconstruction

P = premise in the text

IC = intermediate conclusion, supported by earlier steps, supporting later steps

A = assumption (non-stated premise)

FC  = final conclusion, not supporting any further steps in the text

Lines 5-11 of Gallop translation 

S1, P) You cannot speak or think of not-being (lines 8b-9a; see also lines 17-19)

S2, IC) You are not allowed to say it came from what is not (lines 7c-8a)

(S2 follows from S1; see S5, S9, S13, S19, S25, S36)

S3, A) Anything that came to be would have to come from another thing or from nothing.

(Assumption, taken to be obvious, not stated)
S4, P) It could not have come to be . . . from another thing. 

(the point of the rhetorical question in line 7)

S5, IC) Coming from what is not is ruled out. (S2)

S6, IC) You cannot look for [find?] coming to be. (line 6)

(S6 logically follows from S3-S5)

S7, P) No cause could have made it come to be at one time instead of another, if it began from nothing. (lines 9b-10)

S8, IC) It must either completely be or not be at all. (line 11)

(See “thus” in line 11)

S9, IC) It is now, altogether, one. 




(S2, S8)
(intermediate conclusion, based on two earlier steps, using rule of Disjunctive Argument: p or q, ~q, therefore p)

S10, IC) Neither was it once nor will it be. (line 5a)

(“Since” in line 5 indicates that one of these steps is a step supporting S10)

Lines 20-22 of Gallop translation
(S11, P) If it came to be it is not. 





          (line 21)
(S12, P) If it is going to be it is not. 





          (line 21)

(S13) Not-being is ruled out. 





    (Restatement of S2)
(S14, IC) What is in the present could not come to be. 
(implicit in line 20, supported by S11 and 

S13)

 (S15, IC) What is in the present could not be in the future. 
(implicit in line 20, supported by S12-S13)
 (S16, IC) Coming to be in the future is impossible.


[coming-to-be involves not-being in a time before it comes to be, but see S12]
 (S17, IC) Perishing is impossible
[perishing involves non-being in a time after it perishes, but see S12]

Prior to the following reasoning [it] is not is again ruled out as unthinkable and unsayable. (lines 17-19; see S1, S13). This seems, for Parmenides, to imply [its] total coherence, fullness, continuity, absence of gaps or holes, indivisibility and unity.
Lines 23-26 of Gallop translation

(S18, P) If there were more of it here than there, then it would not hold together.









(line 24)

(S19, IC) It does hold together.

(lines 23-26[?] based ultimately on S2)
(S20, IC) It is not the case that it does not hold together. 

(Unstated step, from S19 by Double Negation)

(S21, IC) There is not more of it here than there    

(line 24, from S18 and S20 by Modus Tollens)

(S22, IC) It is all full 



(line 25)

(S23, IC) There is not less of it here than there 

(line 25)

(S24, IC) It all alike is 



(line 23, S21, S23)

(S25, IC) What is in contact with what is 
                            (line 26, =S22?) 
– because “holes” are ruled out (S2, etc.)?

(S26, FC) It is continuous 



(line 26)

(S27, FC) It is indivisible, i.e., one 

(line 23, relies on S24-S26)

Lines 27-29 of Gallop translation

(S28, P) It has no beginning.



(reiteration of earlier conclusion?)
(S29, P It has no end.




(reiteration of earlier conclusion?)

(S30, IC) It is unbeginning and unceasing.

Note: given what Parmenides says in line 5, we cannot interpret S29 as 
”It always was and always will be.” (Rather, “it” exists in an eternal present.)

(S31, FC) It is constant and firmly fixed in place. 

[But how can its not beginning and not ending support its being fixed in place?]

Lines 30-34 of Gallop translation

(S32, IC) Strong necessity holds it in place (lines 31-32)

(S33, IC) It remains in place (line 31)

(Note “for” in line 31)

(The point may be that it would be meaningless 

to say it moves from where it is to where it is not.)

(S34, P) If it were lacking [in any respect?], it would lack everything                    (line 34)

(S35, A) If it lacked everything, then there would be nothing. 

(Assumed: a necessary truth, given Parmenides’ perspective)

(S36, =S2) The Route involving “Nothing” has been ruled out 

(S37, IC) It is not lacking (line 34)

(depends on S34-S36)

(“For” in line 34 indicates that this is

 a premise for some conclusion or other.)

(S38, FC)  It could not be incomplete (line 33, interpreted)

(“Wherefore” in line 33 indicates that this is a conclusion.)

(Supported by S37)

Lines 35-39 of Gallop translation

S39, P) Thinking depends upon what is 




(lines 36-37)

S40) What is is whole and changeless because of Fate








(lines 38-39; see also lines 23, 27, 31-32)

S41) Nothing else is or will be besides what is.


    (lines 37-38, S40)

S42,FC ) The thing (or being) thought of is identical to the thought of the thing. 

(line 35, interpreted, S41)

